

**IPA**

International Journal of Psychology  
Vol. 12, No. 1, Winter & Spring 2018  
PP. 5-29

Iranian Psychological  
Association

## **Efficacy of Acceptance and Commitment based Therapy on Depressive Symptoms and Cognitive Emotion Regulation Strategies in Depressive Students**

**Najmeh Hamid, PhD**  
Department of Clinical Psychology  
Shahid Chamran University of  
Ahvaz

**Amir Sam KianiMoghadam,  
PhD Student\***  
Department of Clinical Psychology  
Shahid Beheshti University of  
Medical Sciences  
r.kianimoghadam@gmail.com

**Yaser Boolaghi, MSc Student**  
Department of Clinical Psychology  
Shahid Chamran University of Ahvaz

Received: 28/ 5/ 2016      Revised: 17/ 2/ 2017      Accepted: 19/ 5/ 2017

This study aimed to determine the efficacy of acceptance and commitment based therapy (ACT) on depressive symptoms and cognitive emotion regulation strategies in depressive students. The research method was a quasi-experimental study with a pre test, post test, follow-up design and a control group. The sample was selected by multistage sampling and included 40 students who were matched by age, educational status, lack of mental or physical diseases, clinical interviews and by scoring over 19 on the Beck Depression Inventory, Second Edition (BDI-II) along with other criteria considered in this research. The participants were randomly divided into a control and an experimental group. The research instruments included the BDI-II and cognitive emotion regulation questionnaire (CERQ). The experimental group received eight sessions of ACT and the control group did not receive intervention. The results showed a significant difference between groups in terms of depression and CER strategies ( $p < .01$ ). The rate of depression and negative CER strategies in the experimental group was significant lower than in the pre-test and control group and their positive CER strategies were significantly higher. These

results were persisted significantly to the follow-up period. The present study showed that ACT effectively reduced depressive symptoms and negative CER strategies and increased positive CER strategies in depressive students.

**Keywords:** acceptance and commitment based therapy (ACT), depressive symptoms, cognitive emotion regulation strategies

Depression is one of the most common disorders that mental health providers are called upon to treat (Young, Rygh, Weinberger & Beck, 2008). Epidemic studies have reported depression to be the most common mental disorder (Segal, Williams & Teasdale, 2002). Approximately about 20 to 25 percent of women and 10 to 17 percent of men are affected by depression during their lives (Kessler, Berglund, Demler, Jin, Koretz, Merikangas, Rush, Walters & Wang, 2003; Levinson, 2006; Eilenberg, Hoffmann, Jensen & Frosthholm, 2017). This disorder is often chronic and relapsing, each succeeding episode of depression increases the risk of another occurrence (Kessler et al., 2003). Recent estimates suggest that 50 to 60 percent of people who experience an episode of depression will experience a second episode, 70 to 80 percent of those will experience a third episode and 90 percent of people who have had three episodes of depression will experience a fourth episode (American Psychiatric Association, 2000; Burcusa & Iacono, 2007).

The student population is an important social group that is at risk of depression (Buchanan, 2012). Studies show that students who suffer from depression have experienced more difficulty in their academic work and they obtain lower grades than non-depressed students (Lyubomirsky, Kasri & Zehm, 2003; Moyer, Murrell, Connally & Steinberg, 2016). Generally, depression is significantly related to reduced academic performance (Hysenbegi, Hass & Rowland, 2005), leaving school (Meilman,

Manley, Gaylor & Turco, 1992), high incidence of smoking (Kenny & Holahan, 2008; Lee, Rinder, Staten & Danner, 2005; Cranford, Eisenberg & Serras, 2009), high levels of anxiety (Rawson, Bloomer & Kendall, 1994; Wersebe, Lieb, Meyer, Hoyer, Wittchen & Gloster, 2016), suicide attempts (Arria, Ogrady, Caldeira, Vincent, Wilcox & Wish, 2009) and an increased in self-destructive behavior (Serras, Saules-Cranford & Eisenberg, 2010). Studies show that depression imposes an economic burden on communities and families (Gladstone & Beardslee, 2009). Because of the prevalence of depression among college students, they are recognized as a vulnerable and at-risk group (Buchanan, 2012).

The National Institute of Mental Health emphasizes the development and expansion of intervention to decrease the spread of clinical depression among high-risk populations (Hollon, Thase & Markowitz, 2002; Trompetter, Lamers, Westerhof, Fledderus & Bohlmeijer, 2017). Due to the prevalence of depression among the student population, there is an urgent need to develop effective and empirically-confirmed intervention aimed at this group (Gawerysiak, Nicholas & Hopko, 2009). Weak emotion regulation is a common diagnostic factor associated with various forms of psychopathology (Kring & Sloan, 2010; Mansell, Harvey, Watiskins & Shafran, 2009; Watkins, 2008). Theorists have argued that difficulty in the application of cognitive emotion regulation strategies may be a very important diagnostic factor that forms the basis of various types of mental health such as anxiety and depression. (Mansell Harvey, Watiskins & Shafran, 2009; Mosses & Barlou, 2006; Kring & Sloan, 2010; Aldo & Nolen-Hoksema, 2010). Therefore, there is a need to develop studies on emotion

regulation in patients with anxiety and depression ([Cambell-Sills, Brown & Hofman, 2006](#)).

Emotion regulation strategies are cognitive responses to events that consciously or unconsciously evoke the thrill of trying to change the amount and intensity of emotional experiences or events ([Aldo & Nolen-Hoksema, 2010](#)). Evidence suggests that cognitive strategies such as rumination, blame and disaster seemed to be positively correlated with depression and other pathological aspects. This correlation is negative in strategies such as positive re-evaluation ([Garnefski, Legerstee, Kraaij, Vanden & Teerdas, 2002](#)). Recent studies have found that effective and efficient emotional regulation is vital for mental health and difficulty with emotion regulation is related to problematic behavior and mental disorders, such as substance abuse, self-harm, depression, anxiety, borderline personality disorder and post-traumatic stress disorder ([Robertson, Daffern & Bucks, 2012](#)).

In the early 1990s, therapy evolved with the development of innovative treatments using the principles of mindfulness, awareness of and acceptance of the present moment ([Cardaciotto, 2005](#)). Acceptance and commitment based therapy, which was introduced by Hayes in 1986, hypothesizes that trauma is associated with the attempt to control or avoid negative thoughts and emotions. This therapy emphasizes changing the relationship between inner experiences and references ([Roemer & Orsillo, 2010](#)). The underlying principles of ACT include: (1) reception with a desire to experience pain or other disturbing events without action to curb them and (2) action based on value or commitment coupled with the willingness to act as personal meaningful goals, it is more than the removal of unwanted experiences that interact with other

non-verbal connections in a way that results in healthy functioning.

ACT involves empirical experience and exposure-based exercises, linguistic metaphors and methods such as mental care (Vallis, Ruggiero, Green, Jones, Zinman & Rossi, 2003). This type of therapy has six basic principles: diffusion, reception, contact with the present moment, self- observation, values and responsible action (Harris, 2006). The ultimate goal of acceptance and commitment is to help to increase psychological flexibility (Rowland, 2010). Psychological flexibility means the ability to contact the present moment and is a psychological reaction in which a person becomes conscious and changes his behavior or stabilizes himself according to his selected values (Fletcher & Hyes, 2005). Finally, acceptance and commitment increase psychological flexibility and examines language and cognitive problems (Rowland, 2010).

ACT directs the patients to see their thoughts and emotions as separate and allows therapists to reform are national framework and negative cognition states. This therapeutic strategy is like extrapolating in the narrative of therapy (Rowland, 2010). Bohlmeijer, Fledderus, Rokx, & Pieterse (2011) evaluated the effectiveness of ACT on depression in Dutch women. Intervention based on acceptance and commitment led to a significant reduction in the symptoms of depression for these women. This decrease had been maintained at the three-month follow-up. A decrease was observed in anxiety and fatigue. The results of this study show that early intervention based on ACT to increase acceptance was effective in reducing symptoms of depression. Folke (2012) concluded that individuals who were unemployed because of depression and who received acceptance and commitment-based education were cured of depression and

enjoyed better general health and quality of life than the control group.

Because mental health is essential to effective and satisfying life and the mental health of society, especially for its effective and productive strata, it is necessary for the dynamism, prosperity and prosperity of that society. The prevalence of depression among students has a negative effect on their academic and future job performance and imposes costs on society and families. There is an urgent need to develop effective treatments for the student population. The purpose of this study was to determine the effects of ACT on symptoms of depression and suicidal thoughts among the undergraduate students at two universities in Lahijan. The question to be addressed is whether or not ACT can affect the depressive symptoms and cognitive emotion regulation strategies of university students.

### **Method**

The research method was a quasi-experimental study with a pretest, posttest, and follow-up design and control group. Their search population comprised male and female undergraduate students enrolled in the summer term of the 2014-2015 academic years who had been diagnosed with depression in the city of Lahijan, in Gilan province, in Iran. The samples were selected by multistage sampling from among students at two universities in Lahijan having a summer term, these were the Islamic Azad University, Faculty of Science, and Deilaman Private University, Faculty of Technology. The sample from 20 classes at each university were selected and two-thirds of the students of each class were randomly selected.

The Beck Depression Inventory, Second Edition (BDI-II) was distributed among 600 of these students. After collecting the questionnaires and scoring them, 174 of the participants who scored 19 or more (average depression) were selected to be interviewed for more precise review of their depressive symptoms and adherence to the inclusion and exclusion criteria. A total of 59 out of the 174 took part in interviews. After conducting a structured clinical interview, 51 of them were diagnosed with depression. Of these, 40 undergraduate students were randomly selected to receive the BDI-II and a structured clinical interview for depression. Twenty students were then randomly assigned to the experimental group (based on ACT) and 20 patients to the control group (waiting list).

The cognitive emotion regulation questionnaire (CERQ) was administered to the experimental group at the beginning of the first session and subsequently to the control group as the pre-test. Absences during three sessions were considered a criterion for exclusion and the data for such persons was excluded. Consequently, three participants were excluded from the experimental group (two with more than three days of absence and one who withdrew from treatment); thus, three participants were randomly excluded from the control group. The final sample of the study on which the analysis was conducted consisted of 34 participants (17 in each group).

### **Clinical Interview for Axis I disorder in DSM-IV (SCID-I/CV)**

This checklist is an instrument for diagnosis based on the DSM-IV criteria and definition ([First, Spitzer, Gibbons & Williams, 1997](#)). The first of its two versions is the clinical version (SCID-I), which covers psychiatric diagnosis and is used

in clinical environment and designed for clinical research. The second is the complete and longer research version (SCID-I/R) that covers all diagnoses, the type and severity of criteria and progression of the disorder. [Bakhtiari \(2000\)](#) reported the reliability of this instrument as .95 in an Iranian population with retesting in one week ([Bakhtiari, 2000](#)).

### **BDI-II**

This questionnaire is the revised BDI and is consistent with DSM-IV criteria for depression ([Beck, Steer & Brown, 1996](#)). The questionnaire contains 21 items scored according to a 4 point Likert scale from, 0 to 3. [Fata, Birashk, Vahid and Dobson \(2005\)](#) implemented the questionnaire on a sample of 94 Iranian individuals and reported an alpha coefficient of .91, a correlation coefficient between the two halves of .98 in one week and a reliability coefficient of .94 ([Fata et al., 2005](#)). Kaviani reported validity coefficient of .70, a reliability of .77 and internal consistency of .91 for this questionnaire ([Kaviani, 2008](#)). In the current study, the Cronbach's alpha coefficient was .82.

### **CERQ**

CERQ was developed by [Garnefski, Kraaij & Spinhoven \(2001\)](#) in the Netherlands and has two versions (English and Dutch). CERQ is a multidimensional questionnaire used to identify cognitive coping strategies after experiencing negative events or situations. Unlike other coping questionnaires that do not clearly distinguish between thought and actions, this questionnaire evaluates person's thoughts after exposure to traumatic events or undergoing a negative experience. This questionnaire is a self-report instrument with 36 items and its implementation is easy for 12-year-old children and older

people (both normal and clinical subjects). It consists of nine sub-scales, each including four items. The total score of each sub-scale is obtained by adding the values for each statement. The Persian version of the CERQ was validated by [Besharat \(2009\)](#) and [Hasani \(2010\)](#) in Iran. [Besharat \(2011\)](#) found the psychometric properties of this form, including internal consistency, test-retest reliability, content validity, convergent validity and discrimination to be satisfactory.

[Besharat \(2009\)](#) carried out a preliminary study on the psychometric characteristics of this questionnaire in a sample of the general population 168 (97 women, 71 men) and reported the Cronbach's alpha coefficient of the subscales to be .67 to .89. The correlation between the number of participants (43 females and 36 males) was calculated twice at two and four weeks for the scale of the questionnaire was  $r = .75$  and  $r = .76$ , respectively. In this study, CERQ was calculated based on the validation of eight psychology experts and Kendall coefficients of .81 to .92 were reported for the subscales.

### Results

The experimental group followed ACT for eight 90-minute sessions twice a week. The protocol was designed in accordance with that of [Zetel & Hayes \(1986, 1987\)](#) and the principles presented in the ACT publication by [Iyzadi & Abedi \(2013\)](#) as adapted for use in these meetings. The control group received no intervention. Data analysis was performed using SPSS-16 software.

### Summary of ACT Sessions

| Sessions | Objectives                                                                                                                                                                                           |
|----------|------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 1        | Introduction and getting acquainted with one another. Communicating with team members (referrals). Introduction to ACT orientation and objectives. Evaluation and conceptualization. Break.          |
| 2        | Review of previous session. Discussion about painful experiences. Evaluation of clients. Creating innovative disappointment. Break.                                                                  |
| 3        | Review of previous session. The problem of control and desire. Break.                                                                                                                                |
| 4        | Review of previous session. Introduction to blame. Introduction of clean and unclean pain. Decreasing dependence on depressive thoughts. Defining one's identity through a computer metaphor. Break. |
| 5        | Review of previous session. Introducing ourselves as wallpaper. Discussion about the decline in personal interest in individual events. Break.                                                       |
| 6        | Review of previous session. Application techniques: mindfulness, relaxation and entertainment.                                                                                                       |
| 7        | Review of previous session. Added value, value assessment through prioritization. Break.                                                                                                             |
| 8        | Review meeting to understand the nature of desire and commitment. Completing the BDI. Cognitive emotion regulation. Get feedback from clients. Break.                                                |

**Table 1**  
**Mean Score of Depression and Cognitive Emotion Regulation Strategies in Experimental and Control Groups for Pre-test, Post-test and Follow-up**

| Group        | Variable                | N  | Pre-test |       | Post-test |       | Follow-up |             |
|--------------|-------------------------|----|----------|-------|-----------|-------|-----------|-------------|
|              |                         |    | Mean     | SD    | Mean      | SD    | Mean      | SD          |
| Experimental | Depression              | 17 | 32.76    | 10.57 | 22.52     | 11    | 20.82     | <b>7.07</b> |
|              | Positive CER strategies | 17 | 64.23    | 11.28 | 70.85     | 8.21  | 70.05     | <b>6.60</b> |
|              | Negative CER strategies | 17 | 53.05    | 11.59 | 41.11     | 10.58 | 40.64     | <b>4.06</b> |
| Control      | Depression              | 17 | 30.11    | 9.07  | 28.11     | 11.05 | 29.52     | <b>8.67</b> |
|              | Positive CER strategies | 17 | 61.05    | 9.7   | 57.29     | 7.84  | 59        | <b>6.64</b> |
|              | Negative CER strategies | 17 | 43.35    | 7.02  | 46.76     | 6.19  | 48.94     | <b>5.2</b>  |

**Table 2**  
**Results of Homogeneity of Variance or Experimental and Control Groups**

| Scale                                | df <sub>1</sub> | df <sub>2</sub> | F    | sig  |
|--------------------------------------|-----------------|-----------------|------|------|
| <b>Depression</b>                    | 1               | 32              | 3.15 | .085 |
| <b>Negative Cognitive Strategies</b> | 1               | 32              | 2.56 | .119 |
| <b>Positive Cognitive Strategies</b> | 1               | 32              | .026 | .872 |

The results in Table 2 show that the Levene's test results on the dependent variable were not significant; therefore, the variance between the experimental and control groups were not

significant different in research variables and the assumption of homogeneity of variance is confirmed.

**Table 3**

**Results of Multivariate Variance on the Difference between Pre-test and Post-test Scores of the Dependent Variables (Depression and CER Strategies) in Experimental and Control Groups**

|                           | Test value | F     | Hypothesis df | Error df | sig. | Trace size |
|---------------------------|------------|-------|---------------|----------|------|------------|
| <b>Pillai's trace</b>     | .796       | 24.33 | 4             | 25       | .01  | .796       |
| <b>Wilks'lambda</b>       | .204       | 24.33 | 4             | 25       | .01  | .796       |
| <b>Hotelling's trace</b>  | 3.89       | 24.33 | 4             | 25       | .01  | .796       |
| <b>Roy's largest root</b> | 3.89       | 24.33 | 4             | 25       | .01  | .796       |

The results in Table 3 show that there is a significant difference in at least one of the dependent variables between groups. Accordingly, there is a significant difference between groups in at least one dependent variable. ANCOVA was used to find the difference. The results of this analysis are presented in Table 4.

**Table 4**

**Univariate Analysis of Variance on the Difference between Pre-test and Post-test Score Variables, Depression and CER Strategies in the Experimental and Control Groups**

| Variable                               | Sum of squares | df | Mean square | F     | Sig. | Trace size |
|----------------------------------------|----------------|----|-------------|-------|------|------------|
| Depression                             | 738.77         | 1  | 738.77      | 29.47 | .01  | .513       |
| Positive Emotion Regulation Strategies | 885.01         | 1  | 885.01      | 19.14 | .01  | .406       |
| Negative Emotion Regulation Strategies | 1136.42        | 1  | 1136.42     | 49.02 | .01  | .636       |

The results presented in Table 4 show that there was no significant difference between groups for depression ( $F = 47.29$ ,  $p = .01$ ), positive CER strategies ( $F = 19.14$ ,  $p = .01$ ) and negative CER strategies ( $F = 49.02$ ,  $p = .01$ ). The findings show no significant difference for depression and CER strategies between groups ( $p = .01$ ).

**Table 5**

**Multivariate Analysis of Variance on the Difference between Post-test and Follow-up Scores, Depression and CER Strategies between Groups**

| Variable           | Value | F     | Hypothesis df | Error df | Sig. | Trace size |
|--------------------|-------|-------|---------------|----------|------|------------|
| Pillai's trace     | .692  | 14.04 | 4             | 25       | .01  | .692       |
| Wilks'lambda       | .308  | 14.04 | 4             | 25       | .01  | .692       |
| Hotelling's trace  | 2.24  | 14.04 | 4             | 25       | .01  | .692       |
| Roy's largest root | 2.24  | 14.04 | 4             | 25       | .01  | .692       |

The results in Table 5 show that there was a significant difference in at least one dependent variable between groups. It

can be stated that there is a significant difference between groups in at least one dependent variable. ANCOVA was used to find the difference. The results of analysis are presented in

**Table 6**  
**Univariate ANOVA on the Difference between Pre-test and Post-test Scores and Depression and CER Strategies between Groups**

| Variable                       | Sum of squares | df | Mean Squares | F     | Sig. | Trace size |
|--------------------------------|----------------|----|--------------|-------|------|------------|
| <b>Depression</b>              | 804.45         | 1  | 804.45       | 25.18 | .01  | .743       |
| <b>Positive CER Strategies</b> | 1326.49        | 1  | 1326.49      | 14.78 | .01  | .346       |
| <b>Negative CER Strategies</b> | 725.72         | 1  | 725.72       | 32.72 | .01  | .539       |

The results presented in Table 6 show that there was no significant differences between groups for depression ( $F=25.18$ ,  $p=.01$ ), positive CER strategies ( $F=14.78$ ,  $p=.01$ ) and negative CER strategies ( $F=32.72$ ,  $p=.01$ ). The findings for depression and CER strategies indicate no significant difference between groups ( $p=.01$ ).

### Discussion

This study aimed to evaluate the efficacy of ACT on depressive symptoms and CER strategies among depressed students at universities in Lahijan. The aim was to study the efficacy of ACT on depressive symptoms and CER strategies among depressed students. The results showed that there was a

significant difference between groups for the pre-test and follow-up scores for depression and CER strategies. ACT reduced depression and negative CER strategies and increased positive CER strategies in the experimental group compared to the control group.

These findings are consistent with those of [Walser, Karlin, Trockel, Mazina & Taylor \(2013\)](#), who examined the efficacy of ACT on depressive symptoms. The findings indicated that ACT reduced depression. [Folke \(2012\)](#) concluded that long-term unemployed individuals who were depressed but received ACT training showed a decrease in depression and improvement in general health and quality of life compared to the control group. [Teasdale, Segal, Williams, Ridgeway, Souls by & Lau \(2000\)](#) It can be said that people interpret what is happening and cause persistent reactions and feelings.

In individuals with depression, sad and negative thoughts tend to be permanent, which perpetuates depression. The ACT method helps individuals to experience thoughts as mental events and focus on breathing as a tool to live in the present. With this method, depressed individuals are trained to stop the cycle of rumination and negative thoughts. Flexible training on attention, mental enrichment, stopping rumination, positive and negative correction of erroneous beliefs and challenging negative beliefs about emotions reduces depression. Increased attention and awareness of thoughts, emotions and desires and the practical positive aspects of acceptance and commitment will coordinate adaptation behaviors and positive psychological states. I will improve the ability of individual-to-individual and social activities and the interest in this activity essential ([Hayes, 2004](#)). Acceptance and commitment, feeling without judgment, balanced consciousness, seeing clearly and accepting emotional

and physical phenomena as it happens also helps ([Brown & Ryan, 2003](#)).

Training and dedication helps to decrease sensitivity for physical and psychological symptoms and fosters acceptance of these feelings, leading to the use of positive CER strategies. [Hayes \(2005\)](#) also believes that the ACT approach, rather than focusing on resolving and removing harmful agents, helps clients control their previously-accepted emotions and insights and control thoughts that cause problems. ACT makes it possible for the client to change their relationship with their inner experiences, avoid experimental loss, increase flexibility and gain valuable practice routes. Changing relationships with inner experience includes expanding the inner consciousness and clarity. The purpose of the training is to experience thoughts and emotions as they happen naturally ([Roemer & Orsilo, 2011](#)). This treatment helps patients to understand the nature of their inner experiences, especially emotional functioning and the role that inappropriate relationships with internal experiences may have in continuing problems. Self-evaluation can help to raise awareness of the authority of internal experience. Particularly, they understand that their experiences are low and relevant to their situation and behavior. Therefore, sufficient time should be devoted to practical exercises that provide new ways to connect with inner experiences ([Lee et al., 2005](#)).

ACT emphasizes increasing valuable practice. Clients submit those behavioral objectives that have the most importance or value to them. This treatment, more than being a moral judgment, is personal care for the person who shows a particular action. These values include improved interpersonal relationships, education, self-care and having marital relations. The purpose is to engage in activities that are important to them,

but are avoided. An important component of target identification and clarification of important issues for the authorities is to bring awareness to the present moment on the basis of these values and attempt to do things. All the ways to fulfill the first objective make it practical to achieve this goal (Roemer et al., 2011).

The use of ACT is recommended where counseling and psychotherapy are responsible for providing services to young people, including students, and are involve in promoting health. It is also recommended that ACT should be done in the presence of at least two therapists. The limitations of this study relate to the samples of depressed students. Therefore, generalization of the results to other segments of society is not possible because this study was conducted on depressed students from two universities in Lahijan. An additional limitation was the lack of supervision for training assignments outside the training sessions.

### **Acknowledgements**

I would like to thank responsible personnel of the Social Welfare Center in Lahijan for their sincere cooperation and my dear friends who cooperated in the fulfillment of this study.

### **Reference**

- Aldao, A., & Nolen-Hoeksema, S. (2010). Specificity of cognitive emotion regulation strategies: A Trans diagnostic examination. *Behavior Research and Therapy*, 48, 974-983.
- American Psychiatric Association (2000). Diagnostic and Statistical Manual of Mental Disorder (4th ad., text Revision, DSM-IV TR) Washington DC: Author.

- Arria, A. M., Ogrady, K. E., Caldeira, K. M., Vincent, K. B., Wilcox, H. C., & Wish, E. E. D. (2009). Suicide ideation among college students: A multivariate analysis. *Archives of Suicide Research*, 13, 230-246.
- Bakhtiari, M. (2000). *Mental disorders in patients with body dimorphic disorder* [M. A. Dissertation]. Tehran: Tehran University of Medical Sciences.
- Beck, A. T., Steer, R. A., Brown, G. K. (1996). Manual for the Beck Depression Inventory –II. San Antonio: *Psychological Corporation*.
- Besharat, M. A. (2011). Examined The Psychometric Properties of The Questionnaire In a Sample of Community Settings Emotional Understanding. *Journal of Nursing and Midwifery*, 75, In Press.
- Besharat, M. A. (2009). *A Preliminary Study of the Psychometric Properties of Cognitive Emotion Regulation Questionnaire*. Research Report, Tehran University, [Persian].
- Bohlmeijer, E. T., Fledderus, M., Rokx, T. A. J. J. & Pieterse, M. C. (2011). Efficacy of an early intervention based on acceptance and commitment therapy for adults with depressive symptomatology: Evaluation in a randomized controlled trial. *Journal of Behavior Research and Therapy*, 49, 62-67.
- Brown, K. W., & Ryan, R. M. (2003). The benefits of being present: Acceptance and Commitment Training and Its role in psychological wellbeing. *Journal of Personality and Social Psychology*, 84(22), 822-848.
- Buchanan, J. L. (2012). Prevention of depression in the college student population: A review of the literature. *Archives of Psychiatric Nursing*, 26, 21-42.

- Burcusa, S. L., & Iacono, W. G. (2007). Risk for recurrence of depressive. *Clinical Psychology Review*, 27, 959-985.
- Campbell-Sills, L., Barlow, D. H., Brown, T. A., & Hofman, S. G. (2006). Effects of suppression and acceptance on emotional responses of individuals with anxiety and mood disorder. *Behavior Research and Therapy*, 44, 1251-1263.
- Cardaciotto, L. A. (2005). *Assessing mindfulness: The development of a bi-dimensional measure of awareness and acceptance*. Philadelphia, PA: Drexel University.
- Cranford, J. A., Eisenberg, D., & Serras, A. M. (2009). Substance use behavior, mental health problems, and use of mental health services in a probability sample of college students. *Addictive Behavior*, 23, 165-176.
- Eilenberg, T., Hoffmann, D., Jensen, J. S., & Frostholm, L. (2017). Intervening variables in group-based acceptance & commitment therapy for severe health anxiety. *Behaviour Research and Therapy*, 92, 24-31.
- Fata, L., Birashk, B., Atefvahid, M. K., & Dobson, K. S. (2005). Meaning Assignment Structures/ Schema, Emotional States and Cognitive processing of Emotional information: Comparing two conceptual frameworks. *Iranian Journal of Psychiatry and Clinical Psychology*, 42, 312-326.
- Fletcher, L., & Hayes, S. C. (2005). Relational frame theory, Acceptance and Commitment Therapy, and a functional analytic definition of mindfulness. *Journal of Rational-Emotive and Cognitive-Behavioral Therapy*, 23(4), 315-336.
- Folk, F. (2012). Acceptance and commitment therapy for depression: A preliminary randomized clinical trial for unemployed on long-term sick leave. *Journal Cognitive and Behavioral Practice*, 19, 583-594.

- First, M. B., Spitzer, R. L., & Williams, J. B. W. (1997). Structured Clinical Interview for DSM-IV Axis I Disorder (SCID-I), Clinician Version. Washington, DC: American Psychiatric Association.
- Garnefski, N., Kraaij, V., & Spinhoven, P. (2001). Negative life events, cognitive emotion regulation, and emotional problems. *Journal of Personality and Individual Differences*, 30(8), 1311–1327.
- Garnefski, N., Legerstee, J. V., Kraaij, V., Vanden, K. T., & Teerds, J. (2002). Cognitive coping strategies and symptoms of depression and anxiety: A comparison between adolescents and adults. *Journal of Adolescence*, 25, 603-611.
- Gawerysiak, M., Nicholas, C., & Hopko, D. (2009). Behavioral activation for moderately depressed university students: Randomized controlled trial. *Journal of Counseling Psychology*, 56, 468-475.
- Gladstone, T. R. G., & Beardslee, W. R. (2009). The prevention of depression in children and adolescent: A review. *Canadian Journal of Psychiatry*, 54, 212-221.
- Harris, R. (2006). Embracing your demons: An overview of acceptances and commitment therapy. *Psychotherapy August*, 21(4), 2-8.
- Hayes, S. C. (2004). Acceptance and commitment therapy, relational frame theory, and the third wave of behavioral and cognitive therapies. *Behavior Therapy*, 35(4), 65-639.
- Hayes, S. C. (2005). Stability and change in cognitive behavior therapy: Considering the implication of ACT and RFT. *Journal of Rational-Emotive & Cognitive-Behavior Therapy*, 23(2), 131-151.

- Hayes, S. C., Bissett, R. T., Korn, Z., Zettle, R. D., Rosenfarb, I. S., & Cooper, L. D. (1999). The impact of acceptance versus control rationales on pain tolerance. *Journal of the Psychological Record*, 49(1), 33-47.
- Hayes, S. H., Masuda, A., Bissett, R., Luoma, J., & Guerrero, L. F. (2004). DBT, FAP, and ACT: How empirically oriented are the new behavior therapy technologies? *Behavior Therapy*, 35(1), 35-54
- Hasani, J. (2010). The Psychometric Properties of Cognitive Emotion Regulation Questionnaire. *Journal of Clinical Psychology and Medical Settings*, 2(3), 73-83. [Persian].
- Hollon, S. D., Thase, M. E., & Markowitz, L. C. (2002). Treatment and prevention of depression. *Psychological Science in the Public Interest*, 3, 39-77.
- Hysenbegasi, A., Hass, S. L., & Rowald, C. R. (2005). The impact of depression on the academic productivity of university student. *Journal of Mental Health Policy & Economics*, 8, 145-151.
- Izadi, R., Abedi, M. R. (2013). *Acceptance and Commitment Therapy*, Tehran, Jungle Publications. First Edition.
- Kaviani, H. (2008). Evaluate the reliability and validity of the hospital anxiety and depression scale (HADS), General Health Questionnaire (GHQ-28), checklist of traits mood (Mood Adjective Checklist) and BDI in clinical populations compared to healthy group. Research Report. Tehran University of Medical Sciences, Roozbeh Hospital.
- Kenney, B. A., & Holahan, C. J. (2008). Symptoms and cigarette smoking in a college sample. *Journal of Americans College Health*, 56, 409-414.
- Kessler, R. C., Berglund, P., Demler, O., Jin, R., Koretz, D., Merikangas, K. R., Rush, A. J., Walters, E. E., & Wang, P.

- S. (2003). The epidemiology of major depressive disorder: Result from the national comorbidity survey replication (NCS-R). *Journal of the American Medical Association*, 289, 3095-31050.
- Kring, A. M., & Sloan, D. M. (2010). *Emotion regulation in psychopathology: A Trans diagnostic approach to ethology and treatment*. New York: Guilford.
- Lee, V., Ridner, S., Staten, R. R., & Danner, F. W. (2005). Smoking and depressive symptoms in a college population. *Journal of School Nursing*, 21, 229-235.
- Levinson, D. F. (2006). The genetics of depression: A review. *Biological Psychiatry*, 60, 84-92.
- Lyubomirsky, S., Kasri, F., & Zehm, K. (2003). Dysphoric rumination impairs concentration academic tasks. *Cognitive Therapy and Research*, 27, 309-330.
- Mansell, W., Harry, A., Watkins, E., & SHafran, R. (2009). Conceptual foundations of the Trans diagnostic approach to CBT. *Journal of Cognitive Psychotherapy: An international Quarterly*, 23, 6-19.
- Michael, E., Levin, S. P., Jack, H., & Jason, L. (2018). Delivering Acceptance and Commitment Therapy for Weight Self-Stigma through Guided Self-Help: Results from an Open Pilot Trial, *Cognitive and Behavioral Practice*, 25(1), 87-104
- Moyer, D. M., Murrell, A. R., Connally, M. L., & Steinberg, D. S. (2016). Showing up for class: Training graduate students in acceptance and commitment therapy, *Journal of Contextual Behavioral Science*, 6(1), 114-118
- Meil Man, P. W., Manley, C., Gaylor, M. S., & Turco, J. H. (1992). Medical with drawls from college for mental health

- reasons and their relation to academic performance. *Journal of Americans College Health*, 40, 217-223.
- Moses, E. B., & Barlow, D. H. (2006). A new unified approach for emotional disorder based on emotion science. *Current Directions in Psychological Science*, 15, 146-150.
- Rawson, H. E., Bloomer, K., & Kendall, A. (1994). Physical illness in college students. *Journal of Genetic Psychology*, 155, 321-235.
- Roberton, T., Daffern, M., & Bucks, R. S. (2012). Emotion regulation and aggression. *Aggressive Violent Behavior*, 17(1), 72-82.
- Roemer, L., & Lee, J. K. (2009). Mindfulness and emotion regulation difficulties in generalized anxiety disorder: Preliminary evidence for independent and overlapping contributions. *Behavioral Therapy*, 40(2), 142-154.
- Roemer, L., & Orsillo, S. M. (2011). Efficacy of an acceptance-based behavior therapy for generalized anxiety disorder: Evaluation in a randomized controlled trial. *Journal of Consulting and Clinical Psychology*, 76(6), 1083-1089.
- Roemer, L., & Orsillo, S. M. (2010). An acceptance- based behavior therapy for generalized anxiety disorder. In: SM, L, Orville, Roemer Editors. Acceptance- and mindfulness-based approaches to anxiety: Conceptualization and treatment. New York, NY: Springer; 8(2), 40-213.
- Rohani, F., Rasouli-Azad, M., Twohig, M. P., Sadat Ghoreishi, F., Lee, E. B., & Akbari, H. (2018). Preliminary test of group acceptance and commitment therapy on obsessive-compulsive disorder for patients on optimal dose of selective serotonin reuptake inhibitors, *Journal of Obsessive-Compulsive and Related Disorders*, 16, 8-13

- Rowland, M. (2010). *Acceptance and Commitment Therapy for Non-Suicidal Self-Injury among Adolescents*. A Dissertation Submitted to the Faculty of the Chicago School of Professional Psychology For the Degree of Doctor of Psychology.
- Segal, Z. V., Williams, J. M. G., & Teasdale, J. D. (2002). *Mindfulness-based cognitive therapy for depression: A new approach to preventing relapse*. New York: Guilford Press.
- Serras, A., Saules, K. K., Cranford, J. A., & Eisenberg, D. (2010). Self-injury, substance use, associated risk factors in a multi-campus probability sample of college students. *Psychology of Addictive Behaviors*, 24, 119-128.
- Teasdale, J. D., Segal, Z. V., Williams, J. M. G., Ridgeway, V. A., Souls by, J. M., & Lau, M. A. (2000). Prevention of relapse/recurrence in major depression by mindfulness-based cognitive therapy. *Journal of Consulting & Clinical Psychology*, 68, 615-623.
- Trompetter, H. R., Lamers, S. M. A., Westerhof, G. J., Fledderus, M., & Bohlmeijer, E. T. (2017). Both positive mental health and psychopathology should be monitored in psychotherapy: Confirmation for the dual-factor model in acceptance and commitment therapy. *Behaviour Research and Therapy*, 91, 58-63.
- Vallis, M., Ruggiero, L., Greene, G., Jones, H., Zinman, B., Rossi, S., et al. (2003). Stages of change for healthy eating in diabetes: Relation to demographic, eating-related, health care utilization, and psychosocial factors. *Journal of Diabetes Care*, 26(5), 1468-74.
- Walser, D. R., Karlin, E. B., Trockel, M., Mazina, B., & Taylor. B. C. (2013). Training in and implementation of acceptance and commitment therapy for depression in the veterans'

- health administration: Therapist and patient outcomes. *Journal Behavior Research and Therapy*, 51, 555-5630.
- Watkins, E. R. (2008). Constructive and unconstructive repetitive thought. *Psychological Bulletin*, 134, 163-206.
- Wersebe, H., Lieb, R., Meyer, A. H., Hoyer, J., Wittchen, H. U., & Gloster, A. T. (2016). Changes of valued behaviors and functioning during an Acceptance and Commitment Therapy Intervention. *Journal of Contextual Behavioral Science*, In Press, Corrected Proof, Available online 16 November.
- Wersebe, H., Lieb, R., Meyer, A. H., Hoyer, J., Wittchen, H. U., & Gloster, A. T. (2017). Changes of valued behaviors and functioning during an Acceptance and Commitment Therapy Intervention, *Journal of Contextual Behavioral Science*, 9(1), 63-70.
- Wersebe, H., Lieb, R., Meyer, A. H., Hofer, P., & Gloster, A. T. (2018). The link between stress, well-being, and psychological flexibility during an Acceptance and Commitment Therapy self-help intervention, *International Journal of Clinical and Health Psychology*, 18(1), 60-68
- Yong, J. E., Rygh, J. L., Weinberger, A. D., & Beck, A. T. (2008). Cognitive therapy for depression. In D. H. Barlow (Ed). *Clinical Handbook of Psychology Disorder* (PP. 250-306).
- Zettle, R. D., Hayes, S. C. (1986). Dysfunctional control by client verbal behavior: The context of reason giving. *The Analysis of Verbal Behavior*, 4, 30-38.
- Zettle, R. D., Hayes, S. C. (1987). A component and process analysis of cognitive therapy. *Psychological Reports*, 61, 939-953.